(8) ZERLBEIRE DA EHER
O—RRBIEATEIFE

o | B = < BESEN|REEED

Al £ % 15 REfEHY0.1ppm T2 4 3 0 i 5T

% |, BEomat | 1mmiao |Brsmo| S2erE | RMGRE mpe | 0| L

. - N T R | AT | £THE | BRALEMRE PP 2Rl Sao E| R
& T T i B E R & 3 #HBa-BHE o o | 2BRE |BTEHEA ERRS i

ol & u PN EEN RSB | 29BRIME | g 1 | 0.04ppmE Z N I~ e

K| CEDRE |BX-A% B

) [ED) (BFRS) (ppm) (BFRS) (%) (H) (%) (ppm) (ppm) [(H X £EQ) [(ED) EH| a8
AIRFF | RERAEER |EFHKK 58 [T 346 8255 0.002 0 0.0 0 0.0 0.054 0.005 [@) of] O] O] O *
pN T PN B A B 58 | & 355 8512 0.005 0 0.0 0 0.0 0.020 0.010 @) of Ol O] O
KB | KBRATMER  |(IERERT 58 | ¥ 358 8648 0.005 0 0.0 0 0.0 0.027 0.013 @) of Ol O] O
KIERH | KERTRER [FRE/NFK 58 | 1% 366 8733 0.006 0 0.0 0 0.0 0.025 0.013 (e} ol O| O O
K | KBRATER)IK | Ef R 58 | ¥ 366 8743 0.005 0 0.0 0 0.0 0.029 0.012 @) 0l O0O]lO| O
Kk | RERAGEIIE  |IBRINEERT 58 | & 345 8244 0.003 0 0.0 0 0.0 0.021 0.007 [@) ol O] O] O
KR | RERAEFR |BILPER 58 | ¥ 366 8746 0.006 0 0.0 0 0.0 0.045 0.011 (0] o O] O] O
KB | KERTIER RE R 58 | 1% 365 8739 0.006 0 0.0 0 0.0 0.028 0.013 (e} ol 0Ol O| O
AR | KERAHER |BBE/NFER 58 | 1% 366 8742 0.006 0 0.0 0 0.0 0.035 0.014 (0] ol O] O] O
AR | KRBR{EZ TR |[ET/INFER 58 | £ 366 8745 0.007 0 0.0 0 0.0 0.036 0.016 @) 0l O0O]lO | O
K | KIRFAEHFR [BEPFR 58 | £ 356 8510 0.006 0 0.0 0 0.0 0.069 0.015 [@) ol O] O] O
KR | KRABERER |[$EPER 58 | 366 8742 0.005 0 0.0 0 0.0 0.038 0.010 (e} ol Ol O| O
KR | KIRMHERX NER/NER 58 |#T 347 8336 0.004 0 0.0 0 0.0 0.026 0.009 (0] ol O| O] O
KR | KBRTBRE | ZEILNER 58 | £ 366 8734 0.006 0 0.0 0 0.0 0.030 0.014 (0] of O| O] O
AR | KEHEZIR|EERRAR 58 |#£T 366 8730 0.005 0 0.0 0 0.0 0.034 0.011 @) 0l O]l O] O
R RAIRK DIRF 58 | 1£ 365 8711 0.007 0 0.0 0 0.0 0.057 0.014 O ol O] O X
R IR EF 58 | 1£ 366 8721 0.006 0 0.0 0 0.0 0.060 0.010 O of O| O| O
R IRTHEE X "iE 58 | 1£ 366 8709 0.007 0 0.0 0 0.0 0.100 0.016 O of O| O| O
] Bde X o] 58 | ¥ 366 8717 0.006 0 0.0 0 0.0 0.034 0.011 (@) o O| O] O
R SRTIRX == 58 | {£ 366 8720 0.007 0 0.0 0 0.0 0.041 0.012 O 0l O]l O] O
R RmEX FE N 58 | 1X 366 8715 0.004 0 0.0 0 0.0 0.022 0.007 O of Ol O O
ARAF |EFIBT FHHBRAR 59 | £ 363 8562 0.001 0 0.0 0 0.0 0.016 0.005 (@) o O| O] O *
Zdih (B TR 58 |#T 362 8668 0.005 0 0.0 0 0.0 0.020 0.009 (@) of O] O] O
W A wHATEK 58 | & 348 8453 0.004 0 0.0 0 0.0 0.017 0.008 (@) ol Ol O] O
WHf  |[WET WwHETLEEE 58 | 1% 341 8281 0.004 0 0.0 0 0.0 0.016 0.008 @) ol Ol O | O
WwHT (WA wHE & 58 | 1£ 351 8529 0.005 0 0.0 0 0.0 0.016 0.009 O of O]l O O
=MW S = 59 | {¥ 364 8647 0.002 0 0.0 0 0.0 0.011 0.005 (@) ol O] O] O *
=T ST =Rt 59 | {¥ 354 8428 0.002 0 0.0 0 0.0 0.011 0.005 (@) of O] O] O *
SFO®  |SFAT™H E—AIER(&H) 58 | 1% 348 8416 0.005 0 0.0 0 0.0 0.019 0.009 O ol O| O] O
SFOmM |SFA™ FE_HERCKH) 58 |#T 363 8690 0.004 0 0.0 0 0.0 0.014 0.007 @) ol O]l O | O
0w |sFAm E=AER (BR) 58 [T 356 8539 0.004 0 0.0 0 0.0 0.019 0.009 [@) ol O] O] O
WA |WAT WA 58 | 363 8578 0.001 0 0.0 0 0.0 0.009 0.003 (@) of O| O] O *
WA |AT = /N S| 58 | * 366 8663 0.001 0 0.0 0 0.0 0.010 0.003 O of O| O| O *
KRAEF | &A™ AR 59 | & 356 8598 0.004 0 0.0 0 0.0 0.011 0.006 O ol O| O] O
/&N B Nit] HIF/NER 59 | ¥ 347 8369 0.004 0 0.0 0 0.0 0.016 0.006 @) 0l O | O X
NEW [N\ET I\ERERT 58 | & 364 8617 0.002 0 0.0 0 0.0 0.018 0.005 [@) of O] O] O *
NE™M |/N\EH K 58 | fib 363 8629 0.001 0 0.0 0 0.0 0.012 0.003 O of O| O| O *
KIRFF |EHEMT = EMATERT 59 | & 365 8741 0.004 0 0.0 0 0.0 0.014 0.007 (@) ol O| O] O
BERIT| BRI R 58 | £ 366 8746 0.003 0 0.0 0 0.0 0.012 0.006 (@) ol O] O] O
WwEh  |HaERd R AT 59 | & 295 7265 0.003 0 0.0 0 0.0 0.013 0.007 @) 00| O x
MEMm [MEM PAEM&RT 58 | 1% 366 8737 0.005 0 0.0 0 0.0 0.021 0.009 [@) ol O] O] O
MEM |MEM PIE IR 58 | 1% 275 6565 0.005 0 0.0 0 0.0 0.042 0.009 (@) ol O] O] O
ARFF &A™ EAPER 58 | {¥ 366 8751 0.005 0 0.0 0 0.0 0.030 0.008 (@) ol O] O] O
=mam |&am = A HBEE S AR B ARAT 58 | {¥ 365 8715 0.007 0 0.0 0 0.0 0.031 0.011 (@) ol O| O x
E SNk PN i EAREHFEEEE 52— 58 | B 366 8713 0.006 1 0.0 0 0.0 0.168 0.010 @) @)

ol O X
* ERSMRE IR (B2 3) TE

il

-29-



(8) ZERLBEIRE DA EHER
O—RRBIEATEIFE

Py

ar | B = N BESEN | BIEEED

7l F 3 1 RAEL0.1ppm e N =5

% |, Braint  |1smio |Bemio| J3erE (RMGEE mype | 10

= & [ [ - = 5 0.04ppm BA-EBA| I12&LD F fig
moE | moE BER A 2 AR | MERE | FTHE | FEALERAC FEALABE | pai | poumpnis| 2HEE |BFSEN| v | #

ol a8 Z08E ZOEE =18 AME | Eg LT | 004ppmE | BRI | g | &

K|y =8 CEDRE |BA-BH B

) [4=D) (BFRS) (ppm) (B5RE) (%) (=D (%) (ppm) (ppm) [(F x Q) [4=D) [ 5EER
EPNTTHE PN RABRTERTT& 58 | & 366 8715 0.005 0 0.0 0 0.0 0.017 0.009 [@) of] O] O] O
xHm |XBW REMH&R 58 | ¥ 364 8734 0.004 0 0.0 0 0.0 0.015 0.007 0] of Ol O] O

* ROMRE LR (F23) THIE

-30-



(@) —EALIEEREDRERR
_QEEEHFHIRAFER
Py
ar | B = ; BESEN|REEED
Al £ % 185/ EAY0.1ppm - N =5
%, B At | 1mmian |REiue| g¥ene (RMORE maaw | 10|
o | W = g% M oE | REER | FTNE | B EmKe oo =A TS = . o B
& T E i A E B % 3 EEZT-E';&& E-é,—ﬂE 206 E 28U E El:Fﬁ:HEﬁ\ ERR R 'ﬂi
o i B & z0HS ZDEE x 1= " EELE- | 004ppmE | = - H| B
K| =E CEDOHE |BA-BH 5]
Z) [4=D) (B%RE) (ppm) (BFRS) (%) (=D (%) (ppm) (ppm) [(F x Q) [4=D) [ 5EER
A | RERTEEE)IX |H kB /NFER 58 | £ 366 8743 0.004 0 0.0 0 0.0 0.024 0.009 [@) of] O] O] O
KR | KIRTEER [BZIA/NER 58 | & 366 8742 0.006 0 0.0 0 0.0 0.026 0.014 0] of Ol O] O
2 (Edh Soh&AT 58 | 7 355 8507 0.004 0 0.0 0 0.0 0.014 0.007 0] ol O O] O
WM (WA e H 5 5 & P 58 | & 357 8646 0.004 0 0.0 0 0.0 0.017 0.009 (e} ol O| O O
ah  |Eh Ptk 59 | & 363 8643 0.003 0 0.0 0 0.0 0.011 0.005 O of]O| O] O *
AT (AT thik 58 | T 366 8675 0.002 0 0.0 0 0.0 0.029 0.007 [@) of] O] O] O
ESNTHE PN T RARMIREGHERELVS— | 58 | & 364 8716 0.005 0 0.0 0 0.0 0.017 0.009 (0] ol O O] O
KERAF |R{EBRT [E] 5% R B 58 | & 366 8597 0.003 0 0.0 0 0.0 0.017 0.005 (e} ol ol O] O *

* ERHMRE LA (F23) THIE

_31-





